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Testil Math202, sec 07

Net Time Allowed: 40 minutes

Name: - ) ID | section:
Exercisel: ( oS rt’ -
Find the Cauchy-Euler equation whose solution is given by

y=c127" + ¢ cos(V3 Inz) + ¢ sin(v3 Inx)
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Exercise2: (0 5 Flé ) :
Using the method of undetermined Coefficients solve The DE: y” + 25y = 6sinx
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Exercise3: Cﬂ' f’t )

Consider the second order differential equation

(1)
Yy’ — 4y =12.

Let y1(x) = e be a solution of the associated homogenous equation of (1)
1)-Use the method of reduction of order to find a second solution y,(z).( Do not use

the Formula !)
2)- Find the general solution of the equation

(1).
solution: O\,fl
L el ﬂé,ﬁ W)Y, (x) = ulx) € <W6v\ %j a?u+u’) ef»mib(” é[/qtu)”
ol "f‘»?(‘-‘<7w+uar
o H” [u 'L 4u %‘M)e Még“ e =
" vou) a0 = u'tduli0 o wiidw=o e

"4"-—:@u (CéqL clx K(Cﬂ”@”wcﬂl)_o%c—/zx

W= e

Thu = €% 2 @C/Qw"p’é A}F”"B "O‘”‘F’WL' Seluhgyy
emee Y = Yetfp= €E4GEF-3 C

Exercised4: (@3 rt’j
Solve y"" — 5y" + 3y’ + 9y = 0.
solution:
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